Potencias de 10 (D)

Calcule los siguientes cocientes.

6,044 + 10 6,521 -+ 1000
7,264+ 10 5,175+ 10
8,973+ 100 2,401+ 100
9,243+ 100 5,695+ 10
1,702 =100 3,784+ 10
9,058 + 100 4,004 = 1000
3,609 = 100 4,243 =100
1,203 =10 2,584+ 10
6,019 = 100 5,828+ 100
7,86+ 1000 8,823 = 1000
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Potencias de 10 (D) Respuestas

6,044 = 10
0,6044
7,264+ 10
0,7264
8,973+ 100
0,08973
9,243+ 100
0,09243
1,702 = 100
0,01702
9,058 = 100
0,09058
3,609 = 100
0,03609
1,203+ 10
0,1203
6,019 = 100
0,06019
7,86+ 1000
0,00786

Calcule los siguientes cocientes.

6,521 = 1000
0,006521
5,175+10

0,5175
2,401 =100
0,02401
5,695=10
0,5695
3,784+ 10
0,3784

4,004 = 1000
0,004004

4,243 =100

0,04243
2,584+ 10
0,2584
5,828 100
0,05828

8,823 1000
0,008823
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